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ghelr =HERZNA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Z=EH 1t 25,446,901 23,600,371 1,846,530
= 17,708,380
Jl 172,500
CH 700,000
< 1,890,681
Al 4,975,340
Nelz=o1et 1,872,014 2,355,951 A\483,937
= 347,000
Al 1,525,014
FHEMNH 794,000 1,083,000 289,000
== 207,500
Al 586,500
CAIRIE HUlA 37,000 75,000 38,000
402 2I2E X201 & 37,000 75,000 /38,000
01 QI XH2AILE X (KM THE) 37,000 75,000 238,000
OZAIEE FHIAY 37,000
SABIEAUIAG (2X) 147,000 181,000 234,000
= 44,100
Al 102,900
401 AlZHIZ 2018 147,000 181,000 234,000
= 44,100
Al 102,900
01 A28l 147,000 181,000 234,000
O=4BIE HHIAY 147,000
== 44,100
Al 102,900
SE HIFHE SLEEHIA 112,000 167,000 55,000
= 56,000
Al 56,000
402 QI+ X201 & 112,000 167,000 55,000
= 56,000
Al 56,000
02 QI X2 AL E R (01X THE) 112,000 167,000 55,000
Os& HIFHE g ZHIAE 112,000
=S 56,000
Al 56,000
VLR S EHHIALE 120,000 140,000 /20,000
401 AIEHIZ R HYI 120,000 140,000 /20,000
01 Al&HI 120,000 140,000 /20,000
OFIIgR eIEEHIAY
20,000,000 6= 120,000
s0E =& UEFH(EX)(HEAY) 358,000 520,000 A162,000
= 107,400
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=S 107,400
Al 250,600
02 RIINEASEZ(0IETHR) 368,000 520,000 A162,000
Os& F=HE 2daEh] 368,000
< 107,400
Al 250,600
clsty 2¢ 20,000 0 20,000
307 elztol & 20,000 20,000
02 2B HAIAE & 20,000 20,000
Od=clstn 28 20,000
Feiae| 1,078,014 1,272,951 A194,937
=S 139,500
Al 938,514
TADIZEE 53,400 53,900 A500
201 et 3| 1,000 1,500 A500
02 s3=gbl 1,000 1,500 A500
OfgAa==E 2 2458 R 1,000
202 04l 50,400 50,400
01 2LHoIH 50,400 50,400
FEi2e| AR 0]
140,0002 «30E * 12& 50,400
203 2=l 2,000 2,000
03 A=A PR FA| 2,000 2,000
Ot A=A 1,000
O+ S dexd 1,000
SSTEXF AL 266,200 341,700 AT75,500
201 el 8,400 16,500 28,100
01 At22t2lt] 8,400 16,500 /8,100
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500,000& 122 6,000
OAEE SSF8 A2 8 Ed
=g 200,000 x3H *43] 2,400
202 04| 800 1,200 2400
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SSTH R ol 800
308 XXM SO0IH 3,000 4,000 21,000
18 SIS0t & A AS A 3,000 4,000 21,000
Og=AtE2e 28 & &2l AZUSH| 3,000
401 AlZHIZ 2018 14,000 20,000 26,000
01 AlZH| 14,000 20,000 26,000
OZESRIOHIE HIHMEH A 14,000
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= FI28 BH
el MASS FHEN (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,692 4,992 700
Oxg=(st=,.85) 7< 700
OAMNFES S 7¢ 2,000
O3At= HII=Xcll] 300,000 43 1,200
ORoEH 84 =8 66,0003+ 122 792
OSE=MH & 24| 1,000
2 s5=34l 6,722 6,998 N276
OgeE R 6,576
ONISIHAl & 2tZIHe €=
40,000 *3CH 120
o=l 1,650« 1102 B =20+ 123 4,3%
oxter +=clbl 700,000 +3CH 2,100
OfdVe==2 12,1003+ 122 146
202 048l 1,000 1,200 A200
01 2L A b 1,000 1,200 A200
OFANXAHE 2& 064l 1,000
206 M=l 300,000 250,000 50,000
01 MHZHI 300,000 250,000 50,000
OAHIA =& Tz 300,000
S|eotRA BIZIHAM 225,000 150,000 75,000
= 112,500
Al 112,500
402 212t X+=01 & 225,000 150,000 75,000
= 112,500
Al 112,500
02 QI XHE AL E R (01X THE) 225,000 150,000 75,000
Os|YotRA I ALY
25,000,000& *9= 225,000
== 112,500
Al 112,500
FHNSH(ZELSH) 19,425,554 18,660,610 764,944
= 17,483,000
== 1,359,788
Al 582,766
301 2= 17,625,554 16,960,610 664,944
= 15,863,000
= 1,233,788
Al 528,766
01 Al 2E A S(FRDEXMA) 17,625,554 16,960,610 664,944
FAHASH(LXZ) 17,625,554
= 15,863,000
= 1,233,788
Al 528,766
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= 1,620,000
=S 126,000
Al 54,000
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= 38,000
=S 11,400
Al 26,600
402 2I2F X201 & 76,000 76,000 0
= 38,000
= 11,400
Al 26,600
03 2IZ+RAETAIE I 76,000 76,000 0
OO0l =R AL
3,800,000 +20= 76,000
= 38,000
= 11,400
Al 26,600
Z_%“)i' MERS eIz S0 X (XYAZUHSII 700,000 501,000 199,000
2
CH 700,000
307 el2to| & 700,000 500,000 200,000
CH 700,000
08 OIXtE2& = 700,000 500,000 200,000
FETIS HEO0IR RNFAS(NSAZUHS
o13) 700,000
CH 700,000
oate FENXIZALE 603,000 0 603,000
201 2egh=3| 3,000 3,000
01 At22t2lt] 3,000 3,000
OE=2=3 Ma & 224| 3,000
301 EtE N = 600,000 600,000
02 ARSI 2 XSG (FHAAHS, NSWE) 600,000 600,000
Ogire FEFMAIE A 600,000
HEEN SASEXE 354,600 493,000 138,400
= 177,300
= 53,190
Al 124,110
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SN Fe
B MEAAY|(FH)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFAHAEHE NSLIIM SRR 293,689
oJl=2=(0t=) 2,421,2402 8«12 232,440
oY HSAHI 140,000 x8& * 122 13,440
oIt AH| 54,7202 x8 H 8 3,503
otExE 18,7503 x8&~ 123 11,400
o R =] 145,800 «8& * 12 14,006
oli2I&=H| 43,7502 ~8H+ 122 4,200
oXlg 2| 153, 1203 +8&+ 128 14,700
J1I=288l 36,490 40,990 4,500
JI=23Hl 36,490 40,990 4,500
201 Ler23 | 28,930 30,810 1,880
01 At2t2ltl 22,350 24,834 N2, 484
O=AEX 7Y 2,876
OZglHEH & =8 F¢ 5,780
OJIEF AtR 228l 13,694
02 s3=gHl 6,580 5,976 604
OgRE IR 3,440
o=l 1,650 +1,600 £ 2,640
ONSIHAl & 2tZIHe 2=
50,0002 *1CH 50
oxtg RXAlZc/H 750,000 *1CH 750
OoExegy 22 (40h) 3,140
203 g4l 4,860 4,860
M EASHLRFAH 4,860 4,860
ORNESgER=aHI 405,000 =123 4,860
405 AHaHE = 2,700 5,320 A2,620
01 ML ESFSHI 2,700 5,320 2,620
OFFH F¢ 1,120,000 *2CH 2,240
OZUH 7¢ 230,000 *2CH 460




